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Echoes-of-dance

1. Pasacalle de La Locura

All=60 B C | Un poco menos lento J- =63
16 8 . = .
| ON £ | — |
I — —— ' 0]
N — | N —
27 pizz. R S ee T Peg o, P -
. 1 N D X |
=== —y===Seessmcse—tr E
o Y
D | Precipitando.............ccocooiiiiiiiiiiiice e
32 > > S o
e, o 5 5 —Ha ] 5 4a v
SE=Ss=—sme st SEs s . e
— - '
T — molto rit... | i |a tempo J.=55
T . A A 1 4
. : ; F _F#P_._ " o ; = - 6 _—0
Z 5 | | ; | | | 8 _&
= - =
© 1 1 1 1 1 2
0 ]
- = = = = = _——Z:
J.=57precipitando..............cocooeeveeeneenn...
” 1 1 g e
| YD ] Y 63 ] [ D 0 0
N O - O - <) L 3 gl
2 z o) %4 - i —
—
G
57 ............................. 5 J:60
O = . LL. > . > A
= ==2= e =
63 . . .
)6 = 5] — s g > 0 r J
- 3—— g eo— {5 o F & ' %




69

Bass Viol

[

1T
N

74

1

TTe

AL

SN

84

B

AJ

g3V d

17

[ )

N

94

precipitando

e

Ne

molto rit..........
> -

>

~

a tempo J-=50

1

rubatisimo

2

allarg.

= —

£s3c

a tempo y con pulso J.=55

24

o
I

e

e

SN

/
4

TTTe

TTe

molto rit.....

—

N
BN

~A

TTT®

T




